[image: image1.png]T ZO—O%P Rl FH# 85— %R
HEAESEEZRRIES R
— EEE(RAMEE 8 M, H0E2 5,316 9)

1.C 2.A 3.D 4.8 5. A
6.8 7.B 8.A

SHSE(ARERE NG, EINE 4D, RASNMESME 24, £ 20 5)
9.1,2,2,a” 10.2,%5 (1, —2),(~1,—2)
12.120%,2x 13.31,85 14, Ca+2b)(a—2b)

15.3 16.60°,  100° 17.6
S BER(SAEL 2 NE, £ 185

18 48 (DER =251, 345
:% VPN
(DFER = a ——azh | PYS
(a+8)(a—b) (a+b)(a—b)
= a—a=b .34
TG 35
b
== 4o
19 f# . (DERGF,E 2(a+1)=3z—1). 43
iR, z=5, 44y
Lk, z=5 BT BHR.
FEHBMRE z=5. S5 4y
(2)(x—3)t=15. e e 2 43
z—3==./T5. S 34
Soz =3+4/15, 1, =3—/15. © 54y
N BRER(ATL 2 ME, &£ 154)
20.(1>50,9,10; 64
(2) iE E E . ST Ay
21, FI R ERRE A, s 44
s Ttk
%ﬁjﬁ L 2 3 4 5
(L)) (1)) 3 1)) 4t (510
Y lmnz| s | Rhe Rims | Ems
(L2 (20 26 (3, 20| 4 2 (5 2% 5
P lmwa|mnae lmns | mns | mns TR0 ] 1 p W
s W[ @ nl G| @3] 5 m A //\\ W /"\
Fha | FNSs | Fohe | RAT | ks SHZ 1234 1234 1234 1234 1234
(40| (28] (3 43| (4, 43| (5, 4) PLO bbb bttt
4 FAs | e FwT | FNs | fams P 2345 34564567 5678 671809

2%
g




[image: image3.png]25. f# . (1DAC1,0),B(2,1),C(2,2);

(2D orreetree ettt e e e e et s e s be s e e e e st aanaeea

(3)y=2zx.
L BEE(AKEL 3 NE, 26 )
26. B RRMWBBE = R VH A v %R BRIEA W T,
DX 100021200 BT,
it 4z+5y=9000 , y=2000=21,

W=zl 5y:27oo—§

% x B 1000 63, W & KE 2500,
@ 1200<<x<1500 Af,

-
# 3z2-+5y=59000 , yzgoL's_@,
W=2z+1, Sy:2141.5><9—m0%3572700#11;
% 2 TR 1500 B, W 7 S K fH 4350.

L5 R R CRIGECEL 1500 #k, RIGE & 900 #%, EFEE KN 4350 FE.
B RIETE S 900 B, RMEBL 1500 Bk, BB AN 4350 IL.
27 f (D H AR, 8 BO,3).
S AAOBLHABOC,

. OA_OB
S LOAB= LOBC,OB oc

2253 -
] oc

SOC=4, J.C(4,0).

' LOAB+ /OBA=90°,

S LOBC+ L OBA=90°,

S /ABC=90°,

Uy—art~br3 MG A= ,0),0(4,0),

781 9
s T-éu‘zb 3=0

(16a+46+3=0

1,7

..y:——gz f‘EI‘T3.

I
=
3
i
w3
=
=
=]

- 34

443

S 64

© 34

- 24

.4%





[image: image5.png]K&B #EAKPER

EENBE EI0mE





